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Chapter: Ratio and Proportion

(1) The ratio of speed of three racers is 3 : 4 : 6. What
is the ratio of time taken by the three racers to cover
the same distance?
Yot eTareRT <hY ITFT T T 32 42 6 &1 HATA g0 7
el H SeTeh GaRT oIy T A T eI T GIam?
SSCCGL201710AUG-S1 : 55
(a) 3:4:6 (b) 6:4:3 (c) 4:3:2

(d) 2:3:5

(2) What is the fourth proportional to 24, 120 and 227
24,120 3R 22 & =Y JTTIATICIh T 87
SSCCGL201721AUG-S3 : 55
(@ 110 (b) 120 (c) 100

(d) 90

(3) A, B and C received an amount of Rs 8400 and
distributed among themselves in the ratioof 6:8: 7
respectively. If they save in the ratioof 3:2: 4
respectively and B saves Rs 400, then what is the ratio
of the expenditures of A, B and C respectively?

A, B T C I 8400 T UTCd &I § 4T I8 38 I &
SR 6: 8 : 7 o eI H dlC ofd ¢ | ATE SeTehT sreret &t
3TITCT ST 3: 2 : 4 8 AT B, 400 & SIATclT §, oY Sheer:
A, B YT C & &I T 3e]dTc T §7
SSCCGL201710AUG-S2 : 55

(@)6:8:7 (b)8:6:7

(©9:14:10 (dy12:7:9

(4) What is the third proportional to 10 and 25?
10 3R 25 T A AT F7 87
SSCCGL201717AUG-S1 : 55
(a) 125 (b) 150 (c) 62.5

(d) 225

(5) Three bottles of equal capacity containing mixture
of milk and waterinratio2:5,3:4and4:5
respectively. These three bottles are emptied into a
large bottle. What will be the ratio of milk and water
respectively in the large bottle?

T HATS &TAT 1 SicTell 7 g AT dTel & TAS0T &1

3ToIOTeT ShART: 25,3 : 4 AT 4 : 5 §| Gl AT Siiclell bl
Teh 931 didol H TTell Y [GAT SATAT & | §37 STl 7 Shaer:
Y AT YT T JTeTAreT fehcar g1om?
SSCCGL201709AUG-S2 : 55

(a)73:106 (b) 73: 116

(©73:113 (d) 73:189

(6) A company, at the time of inflation reduced the
staff in the ratio 5 : 3 and average salary per employee
is increased in the ratio 7 : 8. By doing so, the
company saved Rs 55000. What was the initial
expenditure (in Rs) of company?

Teh el o HETEhITT (FGaTS) & THT & 30T
HATTRET 1 5 : 3 3 HeTdTcl & e fehdT T I die
Sifcl eI T 7 : 8 o 3TeTUIT # doT ferar| aT el &
STl ST 55000 & AT ST g1 AT BT TR AR 7T (%
) fepcter am?

SSCCGL201712AUG-S1 : 55

(a) 155000 (b) 160000 (c) 175000 (d)
215000

(7)IfA:B=2:5B:C=4:3andC:D =2:1,then
what is value of A: C: D?
IfEA:B=2:5B:C=4:3darC:D=2:1,dTA:C:
D ST AT fhd=T gram?

SSCCGL201710AUG-S3 : 55

(@)6:5:2 (b)7:20:10
(c)8:30:15 (d)16:30:15

8

If ;P = EQ = ERJ then what is the ratio of P, @ and R

respectively?

afg2p = 20 = IR, AIHH: P, Q AU R DT 3TN T §

SSCCGL201711AUG-S2 : 55
(@3:2:5 (b)3:35:14
(¢)5:7:5 (d)35:6:15

(9) The flight fare between two cities is increased in
the ratio 11:13. What is the increase (in Rs) in the fare,
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if the original fare was Rs 121007
ar Qg & e 337 o fohTram 11 : 13 o 37efaTd A e

fecam aram & | afe; et foheram 12100 . o, & e A g3
Felell (T. #) Tttt 57
SSCCGL201717AUG-S2 : 55

(a) 14300 (b) 2200 (c) 22000
(d) 1430

(10) Price of a diamond is directly proportional to
square of its weight. A man broke the diamond
accidently in three pieces in the ratio of 3:5:7 and
thus loses Rs 42600. What was the original price (in
Rs) of the diamond?

Teh R T Held 3Heh R o G971 oh JTTshATIIC ¢ | Toh
IR & el & g ERT It gehst A 3 : 5 : 7 & 37egard
T 1T AR 3 TTE & 3/ 42600 F. H1 &1 g1 @R AT
AT HeTd (&, H) T AT?
SSCCGL201716AUG-S3 : 55

(a) 11786 (b) 60000 (c) 67500
(d) 75000

(11) Profit of Rs 1,03,500 has to be divided between
three partners A, B and C in the ratio 11:7:5. How
much amount (in Rs) does B get?

1,03,500 & T 1T 112 7 : 5 o 3Tl # clied $TEMERT A,

B3 C & &= fasnfora fovar s &1 B & fAee arelr

et &, H fhder g

SSCCGL201717AUG-S3 : 55

(a) 22,500 (b) 49,500 (c) 50,500
(d) 31,500

(12) If 3A = 2B = 4C; then whatis A: B: C?
IfE3A=2B=4CE A A:B: CHATE?
SSCCGL201718AUG-S2 : 55
(@3:2:4 (b)6:4:3
(dy2:3:4

(©04:6:3

(13) What number should be added to each of the
numbers 94, 24, 100 and 26, so that the resulting
numbers are in continued proportion?
94, 20, 100 3 26 FEATHT F T HEAT H g
TQIT T 1T fohar ST arfgw, arfes oo aaar
TR 3reguraT A ge
SSCCGL201718AUG-S3 : 55
(a) 10 (b) 11

(d)8
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(14) What is the fourth proportional to 72, 168 and
1507
72, 168 3R 150 T TFAieaTicieh T &7
SSCCGL201718AUG-S1 : 55
(a) 450 (b) 300 (c) 350

(d) 400

(15) A's wealth is ¢/, times of B's and C's is */, times of
B's. What is the ratio of C's wealth to A's?

A FARITT B A 5/7 AT 8 IR CH B A 10/7 IEATEI C
T FYT T A T FART & 3Tl T 87
SSCCGL201719AUG-S1 : 55

(a) (49:100) (b) (1:2) (0 (1) (d)
(100:49)

(16) The ratio of number of cans of orange, pineapple
and mixed fruit juices kept in a store is 8 : 9: 15. If the
store sells 25%, 33.33% and 20% of orange, pineapple
and mixed fruit juices cans respectively, then what is
the ratio of number of cans of these juices in the
remaining stock?

TREY HUER &R A I AR, AT a4 AT weil &
T & f3at T A3t &1 3T 8: 91 1581 IS
ARG, 31T a2 fATAT Fell & TaT o AT 25%,
33.33%, 1T 20% el 1 fashy 1 Sl &, o 727 gU
HOTSI # THT 3 f3aait &hr Hear &7 JHegard HaT 82
SSCCGL201716AUG-S1 : 55

@1:1:2 (b)6:6:13
(©12:15:19 (d)y4:9:13

(17) The ratio of number of boys and girls in a class is
2 : 3. The average weight of boys and girls in the class
is 18 kg and 21 kg respectively. What is the average
weight (in kgs) of all the boys and girls together
Teh hall H oI5eh 7T FSTehal T HLIT3HT T He]dre 2.
3 8| H&TT H oI5l duT ASThat 1 3raae 9 Faer: 18
feham. T 21 Foharm. §1 el Srsehl T sfehat i Fer
3ia 9R foham. & fohdar grem?
SSCCGL201716AUG-S1 : 56
(a) 99/5 (b) 101/5 (c) 109/6

(d) 96/5

(18) A bag has Rs 43 in the form of 5-rupee, 50-paise
and 10-paise coins in the ratio of 1:5:11. What is the

total number of 50-paise coins?

THITHSE, 50 IR 10T F RBFF F FTHL:5:
11 % 37e]dTel 7 43 T ¢1 50 U o TAehent T el TG

HATE?
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SSCCGL201719AUG-S2 : 55
(@5 (b) 25 (c) 55
(d) 50

(19) Profit of Rs 12,400 has to be divided between
three partners A, B and C in the ratio 5:7:8. How much
does B get (in Rs)?
12,400 %, F AT HI5:7: 8 & AU HA, B3R C T
Fenfora forar ST &1 B &t fohas 5. e
SSCCGL201720AUG-S1 : 55
(a) 4340 (b) 3440 (c) 3340

(d) 4430

(20) Profit of Rs 42,500 has to be divided between
three partners A, B and C in the ratio 3:5:9. How much
(in Rs) does A get?
42,500 . & ST T 3 : 5 : 9 & IHeTUTCT & cliel HIHIERT A,
B 3R C & &rwr fasniara fomam ST §1 A &Y fohcteTT (Fo
) Perarg?
SSCCGL201721AUG-S1 : 55
(@) 12500 (b) 9500 (c) 22500

(d) 7500

(21) A bag has Rs.51.25 in the form of 2-rupee, 50-
paise and 25-paise coins in the ratio of 3:5:7. What is
the total number of 50-paise coins?

Teh FT A 2 39, 50§48 3R 25 48 & [Ahapi o T H 3 :
5 1 7 & 3TefdTcl A 51.25 394 &1 50-U4 & fAhent i Fel
TEGAT HAT &7
SSCCGL201721AUG-S2 : 55
(@15 (b) 35 (©) 25

d)5

(22) If 3/7 P=4/11 Q, than what is the ratio of P and Q

respectively?

If& 3/7 P=4/11 Q § , Y HAL: P AT Q T IeIUT AT ?

SSCCGL201705AUG-S1 : 55

(@12:77 (b) 12:33
(d)3:28

(c) 28:33

(23) What number should be added to each of the
numbers 55, 100, 65 and 116, so that the resulting
numbers are in continued proportion?
55, 100, 65 3iX 116 TEATT & F TAA$ TGAT H & el
AT HEAT ST AT T GRuTHr FEA AR St #
g
SSCCGL201706AUG-S1 : 55
(@) 20 (b) 10

(d)15
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(24) What is the fourth proportional to 336, 288 and
1617
336, 288 31 161 T TJATAATIcIoh FT &7
SSCCGL201706AUG-S3 : 55
(a) 184 (b) 115 (c) 138

(d) 134

(25) If P: Q: R = 2:3:5, then what is the value of (P
+Q:(Q+R):(R+P)?
IREP:Q:R=2:3:58, AT (P+Q): (Q+R):(R+P)
T AT FIT §?
SSCCGL201706AUG-S3 : 74
(a) 5:8:7 (b) 2:3:5 (c) 5:8:10

(d) 4:9:25

(26) Rs 3200 is divided among A, B and C in the ratio
of 3:5: 8 respectively. What is the difference (in Rs)
between the share of B and C?
3200 %. T A, B T C o &I ShaART: 3eflci 3:5: 8 &
dieT ST & | B 9T C & &R & fohd=n 3iav (3. #) 7
SSCCGL201708AUG-S1 : 55
(a) 400 (b) 600 (c) 800

(d) 900

(27) In an MBA selection process, the ratio of selected
to unselected was 11:2. If 40 less had applied and 20
less selected, the ratio of selected to unselected
would have been 10:1. How many candidates had
applied for the process?

THST T T &, Yo 9T 3R o oA 7T SN0 hT
37efaTel 11:2 AT | Afe; 40 A ol o 3Tdet R gielm 3R
20 F# =1 91T g1, A I feiet AR o =g i oati 1
3T 10:1 BYAT | 3 Yfshalm o T fohdet 3#aieart &
rdesT ferar ar ?

SSCCGL201720AUG-S2 : 55

(a) 220 (b) 260 (c) 300
(d) 340

(28) What is the third proportional to 9 and 45?
9 31 45 & fAIT AIERT 3MTAdfcIeh T 87
SSCCGL201723AUG-S1 : 55
(a) 405 (b) 225 (©5

(d) 81

(29) If A = 2B = 4C; what is the value of A: B: C?
IfEA=2B=4C;dr A: B: CHT AT AT ?
SSCCGL201722AUG-S1 : 55
@4:2:1 b)1:2:4
16:4:1

(€)8:4:1 (d)
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(30) The flight fare between two cities is increased in
the ratio 9:11. What is the increase (in Rs) in the fare, if
the original fare was Rs. 18,000?
2T Mgl o Sl 37T T TR 9:11 & 3He]uT H ¢ 1T
gl ﬁ:{rtrﬁgéaaﬁ?ﬁ(xﬁ)w%, 39 He fHAT Rs.
18,000 &1?
SSCCGL201720AUG-S3 : 55
(a) 22000 (b) 3600 (c) 4000

(d) 20000

Answer Key

1 |C|2 |A[3 |C}4
6 (C[7 |D|8 [D[9
11|D|12|C|13|B|14
16|A|17|A[18|B|19
C|22[C[23|A]
B(27|B|28(B

21|C[22|C|23|A[24
26(B(27|B|28[B[29

(1)
let, distance = x

- 5; x x
s ratioof time = =: =1
3 4

=l 2 g

)

Let 4" proportional =x
2 _ 2
120 : x
y 22K120 . o0
24
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3)
Ratio=6x+8x+7x=8400
x=400

Amount Receive by
A=2400

B=3200

C=2800

Saving ratio=3y,2y,4y
Saving of B=2y=400
Y=200

Saving of

A=600

B=400

C=800

Expanse of
A=2400-600=1800
B=3200-400=2800
C=2800-800=2000

Ratio=1800:2800:2000
=9:14:10

| bottle=2:5=2+5=7 x 9 =63 Ratio 18
145

Il bottle =3:4=3 +4 =7 x 9=63 Ratio=
27: 36

Il bottle =4:5=4+5=9 x 7=63
Ratio=28: 35

Ratio= 18+27+28 : 45+36+35

73:116

(6)

Let the initial number of employee be 5x
And final number of employee be 3x
Therefore,

Total initial salary = 7 x 5x = 35x

And total final salary = 8 x 3x = 24x

~ ATQ,

35x — 24x = 55000

11x = 55000

x = 5000
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- initial expenditure of company = 35 x 5000 = Rs.
175000

(7)
A 2 :5=16:40 (Multiply by 8)
4 :3 =40:30 (Multiply by 10)
2:1=30:15 (Multiply by 15)
C:D=16:40:30:15
D=16:30:15

:B
:C
:D
:B
:C

B
C
A
A

8)

/s P = 7/zcl =7/R = k(SaY)
~P=s,Q=2/,R=5%
Or,P:Q:R=s/:2/, 15/,
=35:6:15

9

11 units — 12100

2 units — (12100/11)x 2
= 2200

(1
Share of B = 1,03,500/23 x 7
= Rs 31,500

(12)

3A =2B =4C
=>A:B:C
=21/3:1/2: %
=4:6:3

(13)
94+x _ 100+x

24+x  26+x

= (94 + x) (26 + x) = (100 + x) (24 + x)

= 2444 + 94x + 26x + x* = 2400 + 24x + 100x + x?
= 2444 + 120x = 2400 + 124x

= 44 = 4x

=>x=11

(14)

Let the 4+ proportional be x
ATQ,

72/168 = 150/x

= x = 150 x 168/72 = 350

(15)
A:B=5:7
CB=107
C:A=10:5
=2:1
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(16)

Let number of can of orange, pineapple and mixed
fruit be 800, 900 and 1500 respectively
Remaining cans of orange

=75/100 x 800

=600

Remaining cans of Pineapple

=2/3 x 900 =600

Remining cans of mixed fruit juices

= 80/100 x 1500

= 1200

Required ratio = 1:1:2

(17)

Let number of boys and girls be 2x and 3x respectively
Required average weight

=(2x x 18 + 3x x 21)/5x

= (36x + 63x)/5x

= 99/5

(19)
B gets profit = 12,400 x 7/20 = 4340

(20)
Amount holding by A = 42500/17 x 3 = 7500

(21)

Rs2 : 50-paise : 25-paise
Quantity 3x o 5x D Tx
Value 6x :  25x :  1.75x
ATQ 6x + 2.5x + 1.75x = Rs 51.25
10.25x = 51.25
x=5
Total no of 50-paise coins = 5x = 25

(24)
336 161
288  «x .
g 151 %288

338
= x=138

(27)
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Given that,

Ratio of selected to

Unselected = 11:2

= 40 less applied & 20 less selected.

So, now ratio becomes
(11x-20) _ 10
(13x-40) ~ 11
x =20

So, total applied students = 20 x 13 = 260

, selected to total student ratio
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